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6. OMR 397 T9% 39 707 Qi & 31T @1 § | 519 3!
e i @ieH H FEl A, at I e w1
== ¥ e e &t utEe U= 9 fae Wi |

- [ TR N % T WY 3% T 1/3 ST &IE AR | e
T T A HvE I Al [ ot T % U § e
T B F | TEE o we | dafud et 91 99 & @l srgA
T 39T FE W ARG |

8. TrETEE B wEl gerEgiie 49 I O e H wEn qotaar
e ¥ | gz e st & urg OE HE atad g
T |

9. FUA FUA T TET UG AN, TAH G FEUHEES TE
9l | e AgE AT e AT 9 9T 5 3 el I §
W EE A GEA L

10. 3 & g9 d fEd ywn # FE qE0 91 qAHS TEL B
I @ @ wvm & fet Aar s T 0 @ st wORR
a4 & |

A AT St T HTA e A ¥ 4 3%

| HT srAfga A o S ¥, & 39 snadi & faeg qferg

el @5t #e qu fafay fradl-weaEl % dea s @

S | | 7 forant 04 st @ v © w5 Al faam @

o witenan 4 faefa & wwar ¥ |

Answer all questions.

All questions carry equal marks.

Only one answer is to be given for each question.

If more than one answers are marked, it would be treated as

Wrong answer.

5. Each question has four alternative responses marked serially
as 1, 2, 3, 4. You have to darken only one circle or bubble
indicating the correct answer on the Answer Sheet using BLUE
BALL POINT PEN.

6. The OMR Answer Sheet is inside this Test Booklet. When
you are directed to open the Test Booklet, take out the
Answer Sheet and fill in the particulars carefully with blue
ball point pen only.

7. 1/3 part of the mark(s) of each question will be
deducted for each wrong answer. A wrong answer means
an incorrect answer or more than one answers for any
question. Leaving all the relevant circles or bubbles of any
question blank will not be considered as wrong answer.

8. Mobile Phone or any other electronic gadget in the
examination hall is strictly prohibited. A candidate found
with any of such objectionable material with him/her will be
strictly dealt as per rules.

9. Please correctly fill your Roll Number in O.M.R. Sheet.
5 Marks can be deducted for filling wrong or incomplete Roll
Number.

10. If there is any sort of ambiguity/mistake either of printing or
factual nature then out of Hindi and English Version of the
question, the English Version will be treated as standard.

Warning : If a candidate is found copying or if any unauthorized

material is found in his/her possession, F.LLR. would be lodged

against him/her in the Police Station and he/she would liable to be
prosecuted. Department may also debar him/her permanently

YA

from all future examinations.
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= 3oft &1 37T g = AT 2

7,6, 10, 27,
(1) 51 (2) 104
(3) 114 4) 96

T TUE ® 25 e, 20 i, 18

STt YT 12 HoWHA, Th HEl 3@ Y

AR oot 3 v e T 1,330 @
& | I8 w6 5 et Y 4
= & s me fEm, 12
ittt 3 9 iRt & sust @ fFa
TYT 6 STl 7 8 Hewdd & s @9
e | afe gam ==Er & R =fE
HE A B @9 % 3, @ T

AT g =T H U ?
(1) T14 (2) T17.50
(3) 18 4) 21

37Te G H1 AEA 99 B | TEd q
T, Todta gea o @@ | 18 A
2 | 7f 77 21 dEAnat W e fea 9
1 STy T 1 1ed 87 8 | 9EE &

T %1 9 g 8
(1) 126 (2) 138
(3) 144 (4) 154

us fafead gz wmr # LOCK &1 27
fergn a1 2 | MEND @t — 27 ferar
ST 2, 91 @HE % 9 d DUST
feran s —

(1) 18
3) 9

(2) -18
(5) =%

S ———— ————— —— ———— A LT WL 0 L) L2

What will be the next term of the
following series ?
- 156, 10,27,
(1) 51 (2) 104
(3) 114 (4) 96

A group consisting of 25 Teachers, 20
Engineers, 18 Doctors and 12
Salesman visited a fair and spent
¥ 1,330 altogether. It was found that 5
teachers spent as much as
engineers, 12 engineers spent as much
as 9 doctors and 6 doctors spent as
much as 8 salesmen. If every person of
same profession spent the same
amount, the amount spent by each
engineer is

() T14
(3) T18

(2) T17.50
4) T21

Average of eight numbers is 99.
Largest number is 18 more than
second largest number. If these both
numbers are removed, then average of
rest numbers is 87. Largest number is
equal to

(1) 126
(3) 144

(2) 138
(4) 154

In a certain code language, LOCK 1s
written as 27, MEND is written as
— 27. Then in the same code language
DUST can be written as —
(1) 18 (2) -18
3) 9 4) 9

01

B . e e e .



10.

01

ARG TEIR 1% — 633 — 2642 + 138 — 35 %

AEF 2+ 3 &, A v &) v A
(1) 7,5 2) -7, -5
3) -7,5 4) 7,-5

T iF 37l hY e 43 Y gEd v
7 7! 1 T@ 984 F e @ v TR
FHeh! 1 TEAT 13y7 wH BN R, 1 R 1
TR B & 1J) (¢ +y) =

(1) 10 ) 11

(3} 12 (4) 15

MR (x 1), 43 + 362 — dx + k HT TH
U B, A k T A ST R
() 3 (2) 2
(3) -3 (4) 2

T o9 F YA T G9Y 9T e
(e H) 8 | o 1 forepoi 2 -

(1) 2R (2) 3t

(3) 3V2 Him (@) 243 diw
3R THH HHa @ §, 9 e % =g
TS 1 b1 =TS T ST 2 -

(1) 1:4 (2), 153

3) 1:2 4) 1:1

T FP S ded e ehn & fen
TTZTI%:

0-10 10-20 20-30 30-40 40-50 A

I 2 X 2 ¥ 16

e 1 9= 35 feam mn # | o

Hgft (X, Y) 8
(1) (5,6) (2) (6,5)
(3) (7,4) (4) 4,7)

If two zeros of the polynomial

x*—6x3 —26x2 + 138x - 35 are 2 + 43,

the other two zeros are :

(1} 7,5 (2) -7,-5

3y =1;§ @) 7,-5

A 3-digit number 4x3 is added to
another 3-digit number 984 to give a

4-digit number 13y7, which is
divisible by 11. Then (x + y)=

(1) 10 (2) 11
(3) 12 (4) 15

If (x —1) is a factor of 4x3 + 3x% - 4x + k,
then value of k is equal to

(13 3 2) 2
(3 =3 (4« =2

The side of a cube is an even prime
number (in metre). The diagonal of the
cube is :

(1) 2 metre
(3) 3+/2 metre

(2) 3 metre
(4) 2+/3 metre

If cone and a sphere have equal radii
and equal volumes, then ratio of the
diameter of the sphere to the height of
the cone is :

(1) 1:4
(3} 1:2

2) 1:3
@ 1:1

“An incomplete frequency distribution

is given as follows :

+ 0-10 10-20 20-30 30-40 40-50 | Total

1 2 X 2 Y 16

Given that median value is 35. Missing
frequencies (X, Y) are

() (5,6) (2) (6,5)
(3) (7,4) 4) 4.7)



11.

12.

13.

14.

15,

T @ fhe wee § ‘arg’ IwEt @
T g 7

(1) Ty

(2) IR

(3) IR

(4) A3

Pretferfn 3 & frg e 3 we-gm
FT S-S HE A R ?

(1) e - A = 30 - Fede

(2) ANF - AT = IHFR - 3AAH
(3) Y9 -9 = wfd — GHH

(4) T9 - FF = TIH — 7

FRe sl v yg ¥ 7
(1) TN, Teamaiy

(2) S, TER

(3) F@en, fmEig

(4) regfen, faes

g g o s TR adia 7
(1) FFER FEA FREE 1 |

(2) THTAIFTRE |

(3) TEf AW AITRE |

(4) THEIAAARE |

foferfigd § @ fopa wreg 1 |ftr vl T
27

(1) ¥+ 3fa = 4fd

(2) m*-ﬁ:yﬁ'ﬂﬁ

(3) © + ATET = qUIAEAT

(4) |G + F21 = AIFH=D

16.

17.

18.

19.

He said, “I have been waiting for
ages.” He said that

(1) 1had been waiting for ages.
(2) he had been waiting for ages,
(3) he has been waiting for ages.

(4) 1have been waiting for ages. -

Choose the correct option —

Shyam is 1ndebte§l toyou .
help.

1 to
(2) from
(3) for
(4) at

your

Choose the correct Antonym of the
word Impertinent —

(1) polite

(@ inapplicable"

(3) caricature
(4) noticeable "~

The correct word formation after using
the prefix * pre is

(D prec1sely
) preferably
(3) predict
4) preordamgg

Choose the correct option :

He said that man
(be)

(1) were
(2) is
(3) are
(4) might

mortal
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fem g@Ow ¥R g0 EMISAT w& 28
=g IquE ® 01 arda, 20193%9&‘1%
fsm mn ? ‘

(1) GSLV-2

(2) PSLV-C45 -

(3) PSLV-L28

(4) GSLV-E7

fw frdz Ryt #) ade 2019 % =
W A F AT A TARS {14

t?
(1) R Fgert
(2) Wt fow uh

ORL AL S
@) Tge e

i fafern senftrn 6 wem wfden
Hofa 3l 2019 AR TR E 2

(1) SREET TR FER

- (2) reEtTEm A

3) mmm
(4) SIEET TEATS Frfes

frafefaa Tt # IOET 2011 %

YR T ITH Ak W b
m’lﬂmﬁwaﬁﬁmaﬁ

A. fumm

D. TIe™

(1) A,B,C,D

(2) B,C,D, A

(3) C,D,AB

(4) A,D,B,C

w

21.

22,

23.

¥
- o

EMISAT with 28 other satellites was
successfully launched on April 01,
2019 by which vehicle ?

(1) GSLV-2

(2) PSLV-C45

(3) PSLV-L28

(4) GSLV-E7

Which cricketer is appointed the brand
ambassador of ‘Red Bus’ company in
April 2019 ?

(1) Sachin Tendulkar

(2) Mahendra Singh Dhoni

(3) Virat Kohli

(4) Rahul Dravid

Who has become the first woman
Vice-Chancellor of Jamia Millia
Islamia in April 2019 ? '
(1) Professor Najma Akhtar

(2) Professor Naseem Bano

(3) Professor Shahista Ansari
(4) Professor Shahnaz Fatima

the
ascending order according to their

Arrange following states in

female literacy rate as per census,
2011.

A. Bihar

B. Haryana

C. Himachal Pradesh
Rajasthan
A;B,C.D
B,C,D, A
C,D,AB
A,D,B,C

C.



25,

26.

27.

28.

frm 4 8 fom afegoer 3 afte

Fhredfl QAR (3ES) 2018 WM
fora 7

(1) I gy
(2) &t.w@. JragTe
(3) W1 ¥

(4) I W

Terd e gfa 2
(1) 3T9er Sifgw 4 % §
(2) Fay I |
(3) Sfeos fafawar o

(4) GEATHETH

RA A1 g Seladiid Shide o
1 =eft Tgeh @

(1) ¥ @ E

(2) 37T T TE i

(3) TS T TH e

(4) 3T T T e

w7 R faoiar Reenfedi &1 e
T & ATy AT LG8l % H I
H

fgerdt
A. T =mEr

B. gaer oy $uw .
C. wgfa geam

D. 9 91

%Z:

(1) AP BQ CR DS
(2) AQ BP CS DR
(3) AR BS CP DQ
(4) AS BP CQ DR

LGSl

g
(W rirea|
et
ferepe

-

|

e e S AL AL P T LR 3 78 0 Y3 AR W 3 s " i T ) T B T A

25.

27.

28.

Which of the following = Author
received the Sahitya Akadami Award

2018 in English ?
(1) Anees Salim
(2) V.S.Naipaul -
(3) Shashi Tharoor
(4) Chetan Bhagat

Sendai Framework is related with
(1) Disaster Risk Reduction

(2) Climate Change

(3) Biological Diversity

(4) Information Security

The 4™ submarine of the Scorpene
class launched by the Indian Navy is

(1) INS Khanderi
(2) INS Karanj
(3) INS Kalvari
(4) INS Vela

Match Arjuna Awardee Players with
their sports and choose correct code :

Players Game
A. Neeraj Chopra  P. Boxing
B. . Subedar Satish Q. Athletics
Kumar
C. Smriti Mandhana R. Golf
D. Shubhankar S. Cricket
Sharma

Codes : _

(1) AP BQ CR DS
(2) AQ BP CS DR
(3) AR BS CP DQ
(4) AS BP CQ DR

01



29.

30.

31.

32.

33.

34.

01

174 Awaw & U sag h wem Fw | 29

& fradt afeenat H G TN R 7

(1) 62 (2) 12

(3) 78 (4) 92

et ovg *1 wan ufoqifya feenm s
Godl 8

30.

, CR
() 3= e
(2) §IT = TE x I
(3) TaT = TSEHE x o

.. G=EH
(4) dam =

3T

T o faeaa 2
(1) 50% — 60% UHifeeh 3171, Tehiaie &
(2) 5% — 8% UHifeH 3r=A, FeA |
(3) 5% — 8% UHIfe® 310t A= |
(4) 5% — 8% BETESIFAIEh A7, A §
ofafiea § 4 fog wET At &
Y ITAF B ?

(2) FANEHH

(1) 9= . |
(3) THifeH I (4) AT

f= feu gel A wEEE @ yEeee
Fafy /7T o TE TERE 1 I IR
(A) zrafas — Jifas - frefirm

(B) feAgrirgs — HE5H — THSIgH
(C) Fearfam — faefe — waEihE

fd :
(2) *de (B)

(1) (A)wa(B)
(3) %3 (C) (4) (A), (B) 3 (C)

|

|

|
A Fa fafavar feag, 2019 # {
g 2 l
|

|

|

i

!

31.

32.

33.

34.

(1) @49 31an ofifas
(2) A FASEAETHE, T Fg, W
2oy

(3) mﬁ*maﬁﬁmu@ﬁaagf&n
(4) ®<¥H  HH S
E{REI

7

How many women have been elected
as a Member of Parliament of the 17t
Lok Sabha ?

(1) 62 2) 72

(3) 78 (4) 92

The momentum of an object can be
defined as :

Force

Area

(2) Momentum = Pressure x Area

(3) Momentum = Mass x Velocity
Mass

Velocity

(1) Momentum =

(4) Momentum =

Vinegar is a solution of

(1) 50% — 60% acetic acid in alcohol

(2) 5% — 8% acetic acid in water

(3) 5% — 8% acetic acid in Benzene

(4) 5% — 8% hydrochloric acid in
water

Which one of the following carbon

- compound has highest boiling point ?

(1) Methane
(3) Acetic Acid

(2) Chloroform
(4) . Ethanol

Select the correct sequence of the
geographical Periods/Era using the
codes given below :

(A) Triassic — Jurassic — Cretaceous
(B) Paleozoic — Mesozoic — Cenozoic

(C) Devonian — Silurian — Carboniferous

Codes :

(1) (A)and (B) (2) Only (B)

(3) Only (C) (4) (A), (B)and (C)
The theme of International Day for
Biological Diversity 2019, is

(1) Save our species
(2) Our Biodiversity, Our Food, Our
Health
(3) Biodiversity and  Sustainable
Tourism
(4) Convention on Biological Diversity
o

- ¢ = ulb



35.

36.

Xt

38.

() ‘== % ufiea’ weeeh &1 seahg
HfeeT § Faet Th AR gan R |
(1) dfeum & @ wsgEedt @y 423

mﬁmmmwﬁa%mw%|
(1) aa () T |
(2) & (1) TR |
(3) ()T (ID), A Het § |
() FAD, IS AN TR |

W%ﬁ?angqﬁ%ﬁahqﬁﬁeﬁa
AT & At 6 ToET Y 17 off 9

(1) ST g ) .. firft
3) Fem e 4) 7 S fiim

TSI 991 & a9 § fifeg syt @

ﬁ?‘l’(aﬁmz

(I) WH. IHaYHH 3R T59 997 F
TEA IT-FHTIR & |

(I) v&d Sfeum-geiam ¥ fw o=
[T <7 ATEmeiA T foran may o |

(1) s (D@2 |

(2) ae (1) @& 2 |

(3) (I) W& (II), ST adt & |

(4) FA @, AR AN TE R |

HIAH % Fe o Terd HUA §

(1) #dded ¥ @& 39H I9fyq
T2 |

(2) 9EdT He ¥ ATH FRATE TWE
% fore Iererf B 2 |

(3) dFHed T HIAH FARGATREA
FUALEA 2 |

(4) #AWH gl # gaw B ogh F
Tt UV-faferr @ tara et
21

B P —

L —. L ——— " T——— LTRSS SRS At Tt T ARNAT TR TP

35.

36.

(3)

Consider the following statements :
(I) The term ‘Union Cabinet” is
mentioned only once in the
constitution.

This term was inserted in the
constitution through 4w
Amendment.

Only (I) is correct

Only (II) is correct

Both (I) and (II) are correct
Neither (I) nor (II) is correct

(1)

(D
(2)

Q)

In the election of which President of
India, the second preference votes
were counted ?

(1) Zakir Hussain

(2) V.V.Giri

(3) Neelam Sanjeeva Reddy

(4) Giani Zail Singh

Consider the following statements
regarding Council of States (Rajya
Sabha) :

(I) M. Ananthsayanam Ayyangar
was the first Deputy Chairman of
Rajya Sabha.

(II) For the first constitutional
amendment, ratification of Rajya
Sabha was not taken.

(1) Only (I) is correct.

(2) Only (II) is correct

(3) Both (I) and (II) are correct.

(4) Neither (I) nor (II) is correct

The incorrect statement about Ozone is :
(1) Bad Ozone is
Troposphere.

(2) Ozone is responsible  for
greenhouse effect in Stratosphere.

(3) Ozone 1S destroyed by
chlorofluorocarbons in atmosphere.

(4) Ozone shields the surface of the
earth from harmful UV-radiation
from the sun.

present  in

01



39,

40,

41.

42.

43.

01

ST e % = # e
¥ fawife =3 @ @,y % te
A # fray RAnan s @
TR -Torfa w1 gl & 2

(1 2 Q) 3

3) 4 @) 5
/e o R @

(1) <faoft araeh &

(2) I A o

(3) 999 IaA A

(4) oG i ggiiea §

Hﬁﬁq%a’ﬁaﬂm%mﬁmﬁam
ﬁlﬁﬁngm'ﬁmwm
g7

(1) g (2) sigareT

(3) H= (4) TG

-1 9 E1-11 Y gafera st Frefafag
F2 T | TE IR F1 9797 Fifvw -
- g1
(@) (wm)
(A) () W (FEw)
(B) s weRR (i) @ (IHemin)
(C) Haraer (i) srhamg ()
(D) T w62 (iv) ARH (IgTR)
®: ‘
(A) (B) (C) (D)
(1) () (v) (ii) (i)
(2) (i) (i) (@) (iv)
(3) Gi) (i) (1) (iv)
4) (v) () (i) (i)
Hau % 31gw8e 355 4 3T 61 e
ZINHAT F1 JocAd 2 2
(1) 3¢ va av fogie
(2) @@l JAmFEv vd G fagie
(3) 9 vd it quify
(4) el ATHRAY g HTafien srenfy

, 39.

40.

41.

42.

With how many senior most Judges
the Chief Justice of India has to consult,
before making recommendation for
appointment of Judges to the Supreme

Court ?
2) 3

1) 2
8 4 4) 5

BARR Pass is situated in
(1) Southern Aravali
(2) Northern Aravali
(3) Central Aravali

(4) Malkhet Hills

As per Koeppen'’s classification which
among the following districts has Cwg
type of climate ?
(1) Bharatpur
(3) Sikar

(2) Banswara
(4) Hanumangarh

Match List-I and List-II and select the

correct answer from the code given

below :

List-I List-II

(Mineral) (Place)

(A) Granite (i) Depura (Udaipur)

(B) Limestone (ii) Sonu (Jaisalmer)

(C) Soapstone (iii) Ajeetgarh (Sikar)

(D) Rock (iv) Maton (Udaipur)
phosphate

code :
(A) B) (O (D)

() () (iv) (i) (i)

@) Gi) ) G (Gv)

() () (i) () (i)

@) (v) () (i) (i)

Which conditions of emergency are

mentioned in the Article 355 of the

Constitution ?

(1) War and Armed rebellion

(2) External aggression and Armed
rebellion

(3) War and Internal disturbance

(4) External aggression and Internal
disturbance



4. wierg defem URRICa forg B 44. At which  river bank famous
foram fRym g7 . pilgrimage site Galiakot is sityated i
(1) W (2) wreft faiy (1) Parwan (2) Kali Sindh
(3) urd (4) 9m | (3) Mahij (4) Som

45. FHamf @ 45.  ‘Gyanvani’ is
(1) 39T JmuTiE RENERSET (1) Satellite based TV channel
(2) ., e e 51 T Yok (2) Network of FM Radio channe]
(3) =aRET A ot e =57 T Yegd (3) Network of Personal TV channel

: ] (4) Entertainment Channel Network

(4) TARSE I 7 Yoy |

46. W fyeey Aoy oy 3 [EIRE] 46.  What is the correct sequence of stages of
TN T3 S 7 27 preparation of local school mapping ?

j (I) Diagnosis — Projections — Proposals
| (2) Proposals — Diagnosis — Projections
| (3) Projections — Diagnosis — Proposals
_§ (4) Projections — Proposals — Diagnosis
! .
|
|
i

(1) T - véu - v
(2) =& - fgM - yaqu
3) ’SI%CWT—;'F*@?%WH
4) H@W—)W—)ﬁﬁ?

47. T % Heo #, faener weegT afify

47. In the context of Rajasthan, the

o member  secretary  of executive
(W) =T committee of School Management
e giwg g Committee (SMC) will be
(1) TYFTSIYS / 97 9 : (1) The head master/Head of the

e gity Institution

2 e (2) The senior most teacher
(3) Torem farem sAferprt (3) District Education Officer
(4) =T farem rfereprt (4) Block Education Officer

48. In  which year ‘The Rashtriya
Madhyamic Shiksha Abhiyan’
(RMSA) initiated in India ?

(1) 2007 (2) 2008

(3) 2009 (4) 2010

48. 9T 4 g areafyer e shEm (T
1) %1 forg o 4 3oy Rrer w2

(1) 2007 (2) 2008

(3) 2009 (4) 2010

. The name of the village, where Adani
Power Rajasthan Ltd. Plant s

a . y 49
49. 97 79 A&l e gfar o fafine

|
|
|
|
|
|
|
|
|
|
|
|

TS Tfa 2 - established —

(1) Yt (arem) (1) Thumbli (Barmer)
am (2) Mahi (Banswara)

@) rrr;ﬁ(aT . : (3) Kawai (Baran)

() e () (4) Anta (Baran)




50. wE foen afiEm (wW.wE.U) wRe %
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(1) 84si@wius  (2) 85af waium
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(A) IR (B) ¥
(@RENISU (D) S

D BTEE) @) O D)
} WE®B @) WED)

% T & g § B @ wuw
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(1) foameff wam 7 wg 9 & v & TH3
g1 -

(2) oS TR ¥ YR 9T |

() STATSHF AR AT F IS |

(4) =+t 8 o AW s daeg |

g1
T % fmT @ el f s s
REge
(1) F99, SR (2) FAR, IR

(3) msﬁag{ (4) IR, fimm

Hfegw Fana + fau guffe wwa
RECIERDES
(1) HaAHE -V
(3) w@g-1

(2) 3|

(4) TgHe

a= % e 9 wg srfrard fem e,
2009 % =it § & frg wmr ) 9=
%%qﬁzwqaaaﬁarrzfﬁmw,
2019 gr gsmfera e man 7

(1) 49m 16 (2) WM 17

(3) 9P 15 (4) 41T 14

50.

51.

52,

53.

Sarva  Shiksha Abhiyan (SSA)
mandated by which amendment to the
Constitution of India ?

(1) 84™ amendment

(2) 85™ amendment

(3) 86™ amendment

(4) 88" amendment

At which places Rashtriya Military
Schools are located in Rajasthan ?

(A) Ajmer (B) Dholpur

(C) Chittorgarh (D) Jodhpur

(I) (B)and(C) (2) (C)and (D)
(3) (A)and(B) (4) (A)and (D)

Which statement is incorrect in context
of Sainik schools ?

(1) Students can take the admission in
class 7 and 9.

Admission based on entrance test.

Only boys are eligible to take

2
(3)
admission.
All Sainik schools are affiliated to
CBSE.

(4)

In which two district of Rajasthan
‘I.LA.S.E.’ are located ?

(1) Ajmer, Jaipur

(2) Jaipur, Udaipur
(3) Ajmer, Jodhpur
(4) Ajmer, Bikaner

India’s first dedicated satellite for

educational services —
(1) KALAM SAT-V
(2) PRATHAM

(3) SWAYAM-I
(4) EDUSAT

Which of the following section of
Right of Children to Free and
Compulsory Education Act, 2009 has
been revised by Right of Children to
Free and Compulsory Education Act,
20197

(1) Section 16
(3) Section 15

(2) Section 17
(4) Section 14
o
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IR gt &t e g et f
AT 8 T8 H g8 oft 7

(1) 1985 (2) 1995
(3) 1978 (4) 1975
frer &7 R Ffufam (am ) @

TTYH AT RTR ?

(1) Ty Fyes 3k wfeadt 9.
farer =1 3rfereeR g 2011

2) ToeH F3es R fyart e
f3ren &1 ¥ w2010

(3) TR F3es 3k afad =
e =61 i fm 2009

(4) TN R:yes v sfed @
ven =1 1frem fram 2005

=fafad 4 4 o9 a1 w9 oeafrs

RGIEIERE S e i

(1) =reafys wd 3= areafis sanah
=1 AT T 7 3 |

(2) F&T 9 & 12 F U ugmmn
o Ta 6 |

(3) TmEg faearadi =) 5T Yem
YT 3T 1870 3T |

(4) &9 H 12 & ISIIEIHRI HT TgU
HT | -

11a°fqa‘12a°fdaaﬁqmﬁﬁ3é
el 79 H% HHR @ 0 TWHR h

faefra urfrerd %1 gum Far o1 ?
(1) 50:50 (2) 60:40 ‘
(3) 70:30 (4):75:25 o

e % forw, e g sonelt (zrew)
fore faafad 61 ¢
(1) NUEPA
(3) SIERT

(2) NCERT
(4) IASE
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57.

58.

59

60.

o3

In which year North East Regional
Institute of Education - Shilong was
established ? )
(1) 1985, (2) 1995,
(3) 1978 (4) 1975

What is the nomenclature of RTE Act
in the state of Rajasthan ?

(1) The Rajasthan Right of Children
to Free and Compulsory
Education Rule 2011.

The Rajasthan Right of Children
to Free' and Compulsory
Education Rule 2010.

The Rajasthan Right of Children
to Free and Compulsory
Education Rule 2009.
The Rajasthan Right of Children
to Free and Compulsory
Education Rule 2005.

Which of the following is not the
function of Board of Secondary
Education Rajasthan ?

(1) Organising Annual Examination
for Secondary and Sr. Secondary
Classes. '

(2) Developing curriculum for classes
9to 12

(3) Giving Recognition to Affiliated
Schools and their Inspection.

(4) Printing of Text Books for classes
9to12. o

2
3)

4

What was the financial - partnership
ratio between Central Govt. and State
Govt. for Model Schools under 11" &
12 Five year plan ?
(1) 50:50
(3) 70 :3@:

(2) 60:40
(4) 75:25

Who developed District Information
System for Education (DISE) ?

(1) NUEPA (2) NCERT

(3) SIERT (4) IASE

1) §
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(1) (@v) (@) @) ()
(@) @) () (i) (v)
) @) () (i) (iv)
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o= favafaaem & ol & ‘yiner o

(1) uffs wre
(2) IS JEH ;
3) asﬁm‘hmwram

(4) THET
ﬁwﬁaﬁﬁﬂqm@uwww
& .

(1) geufeaw ,,'_— 1854

(2) = afafy .- 1929

(3) v FHIR ~ 1882-1883

(4) e favafammeg - - 1858
Ty

LI E R 1 mmfﬁv
(1) =&t 12, 1922
(2) a4 12, 1930
(3) 3= 6, 1930
(4) ard 2, 1930
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@ YU qwvd w%’ i frad diferat off o
(1) 12 (2) 22
(3) 32 4).41
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61.
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62.

63.

l 65.

Match the List-I with List-II and give
the correct answer from the code given

below :
List-1I List-II
(Authors) (Their Works)
(a) Bharvi (1) Panchtantra
(b) Shudrak (ii) Devichandra
Guptam

(c) Vishakh Dutt (iii) Mrichchhkatika
(d) Vishnu Sharma (iv) Kiratarjunia
Code :
(@ (b) () (d)
(1) (iv) (i) (i1) (_i)
(2) (i) @) (@) (1v)
(3) () > (i) (>{v)
4) (@) @G (@Gv) (i)
With reference to Nalanda University,
the ‘Dharamganj’ was a
(1) Religious place
(2) Teacher’s residence
(3) Girl’s Hostel
(4) Library

Which one of the following pairs is not
correctly matched ?

(1) Woods Despatch — 1854

2) Haftog Committee — 1929

(3) Hunter Commission — 1882-1883

(4) Sadler’s University — 1858
Commission -

When did Gandhiji commence the
‘Dandi March’ ?

(1) February 12, 1922

(2) March 12, 1930

(3) April 6, 1930

(4) March 2, 1930

How many spokes are there in
‘Mahadharm Chakra’ placed on the heads
of lions of Ashokian pillar at Sarnath ?

(1) 12 (2) 22

(3) 32 (4) 41
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(a) ST9H (b) FAEvE
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(2) (a), (b), ()

3) (a), (b), (), (d)
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(1) TS TFHE T

(2) @t gFH= T

(3) @t faesre

(4) =T TR faers
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(1) TagitEat 1 wmefq

(2) 3T H! HEI

(3) e
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et

frifera o @ fepam <am sfogar & feran
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(1) wETen M
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Provisional government of
independent India formed by Subhash
Chandra Bose in 1943 was recognised
by which of the following countries ?

(a) Japan (b) Ireland
(¢) Korea (d) Italy
Code :

(1) (a)and (b)
(2) (a), (b), ()
(3) (a), (b), (c), (d)
(4) (b) and (c)

Who among the following first used the
word ‘Swarajya’ and accepted Hindi as
the national language of India ?

(1) Raja Ram Mohan Roy

(2) Swami Dayanand Saraswati
(3) Swami Vivekanand

(4) Bal Gangadhar Tilak

The place where Auwa Thakur Kushal
Singh spent his last days was

(1) Auwa (2) Udaipur
(3) Kotharia (4) Neemuch

Policy of Maharana of Mewar towards
the Revolt of 1857 was

(1) Supported the rebels
(2) Supported the British
(3) Neutral

(4) Took active part in organising the
revolt

Who among the following wrote in
‘Young India’ that the revolt of 1857
was both political and national ?

(1) Mahatma Gandhi

(2) Sardar Patel

(3) Lala Lajpat Rai

(4) Subhash Chandra Bose
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| 71.

72.

73.

74

75

What was the attitude of Bijoliya
jagirdar, during the Bijoliya
movement, towards the agreement of
1922 7

(1) Fully accepted

(2) Refused to honour

(3) Left on Maharana’s discretion

(4) Forwarded to British government

Arrange the following (with reference
to Shivaji) in chronological order and
select the correct answer from the
codes given below :

(I) First sack of Surat

(I) Afzal Khan episode

(IIT) Treaty of Purander

(IV) Night attack on Shayasta Khan
Codes :

(L) (I @avy (@ (1m

@) O ) av) (I

(3) () (I) av) (1

4 @O a am 1v)

Who among the following painters
was given the title of ‘Nadir-Uz-
Zaman ?

(1) Abul Hassan

(3) Bishandas

(2) Mansur
(4) Manohar

Who was last to lead the deputation
sent by Akbar in Mewar for peaceful
subjugation of Pratap ?

(1) ManSingh  (2) Bhagwant Das
(3) Bhagwan Das (4) Todarmal

In vyhich period  Shailendra dynasty
established its empire in Sumatra, Java etc, —

(1) 5" century A.D.
(2) 6™ century A.D.
(3) 7" century A.D,
(4) 8™ century A.D.
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